%72@EEX§§§957‘*¢1&1%*%&% 2019/7/1
B M =®

L1—B prif3 L—xF—X AL BHEALT (-2 TOMOV R | BM# | RAUb¥K ,f‘ff& BERE [[:3iva
X X O (@) 2 — 2|7 — 517 — 12|319 — 304
T 1 — 20!1 — 213 — 02 — 1 ( 0) ( 2) ( 5 ) ( 15 ) 3
4 — 5 2 — 6 — — 3
92 — 82|52 — 73|90 — 64|8 — 85
(@) X @) (@) 3 — 1|6 — 6|14 — 16312 — 343
p—k—x| 2 — 1 0o — 3|2 — 112 — 1 ( 2) ( 0) ( -2 ) ( -31 ) 2
5 — 4 — 6 5 — 3 — 3
82 — 92 50 — 90|93 — 81|87 — 80
@) @) @) (@) 4 — 0|10 — 2|21 — 4342 — 206
X 2 — 113 — o0 2 — 1|13 — o 4) ( 8 ) ( 17 ) ( 136 ) 1
4 — 2 — 5 — 2 —
73 — 52190 — 50 89 — 5090 — 54
X X X X 0 — 412 — 105 — 2212567 — 362
mEmEsa © — 3|1 — 21 — 2 0o — 3 ( -4) ( -8) ( =17 ) ( -105 ) 5
— 6|3 — 5|2 — 5 —
64 — 90| 8 — 93150 — 89 62 — 90
X X X @) 1 — 3|5 — 712 — 15(309 — 324
Tomouz| 1 — 2|1 — 2|0 — 3|3 — 0 ( -2) ( -2) ( -3 ) ( -15 ) 4
3 — 5 3 — 4 0 — 6 —
85 — 85180 — 87|54 — 90|90 — 62

1/ 11 R—=2




R4 : ENRREREXEEFF)77 Wi

EH: HFEEWL1-B)

HEES: 1 GAZ vs L—F—X)

=15 IFRNRAR -Vt 49—

B

<}
i)
3
It

D1
FE T
Rt EETF
D2
e BT
AP
D3

S T

L1—B
1T — 2
9 — 15
15 — 6
3 — 5
15 — 11
14 — 15
4 — O
15 — 10
12 — 15
5 — 0

2/ 11 R=

IL—F%—X
BH E£=

ILER LDA

BH EF
W BF

BA E@mxX
Kl =F



REd: ENREREXREEFEF)77 i
e HAFEWL1-—B)

AEEE: 2 (ALvs BEALT(—A)
25 IFNRAR-Yts5-

L1—B
AL 2 — 1 BEFELT (—A
=i BRF 15 — 3 Sl XF
D1 2 15 — 210
=H G — g5 BF
=28 fF 15 — 9 ® B
D2 1 14 — 15| 2
AE K 0 — 5 RAF HA
ZK & 15 — 6 RE HF
D3 2 15 — 10| 0
‘% FRF — KEE FF

3/ 11 R=



R4 : ENRREREXEEFF)77 Wi

EH: HFEEWL1-B)

AEES: 3 CGBEZ= vs TOMOTR)

=15 IFRNRAR -Vt 49—

D1
AP HIR
N
D2
B T
BRI T2 T
D3

FE EF

4 /11 R—=2

TOMOY A

&g ETF
Ef BE

HIE EHF

MR =

INHL RF



R4 : ENRREREXEEFF)77 Wi

EH: HFEEWL1-B)

HEEE: 4 UL—xF—X vs 5L)

=15 IFRNRAR -Vt 49—

I—F—X

BAR EfEx
D1
R =F

aH EF
D2
M BT

H XN
D3
LWER L DA

10 —
10 —

5/ 11 R=

15
15

15
15

15
15

/S\ C

=l BRF

=@ @\

ZK %
£k ARF

AR FREE
mE MR



R4 : ENRREREXEEFF)77 Wi

EH: HFEEWL1-B)

HEES: 5 (BEAELT(—Avs TOMOYR)

=15 IFRNRAR -Vt 49—

BEBALT —A

"B
D1
2l BF

& XTF
D2
= RN

XE BT
D3
KE HF

L1—B
0O — 3
7 — 13
13 — 15
13 — 15
6 — 19
13 — 15
10 — 15

6/ 11 R=

TOMOY A

INH RS

HIE EHF

MR =

"
i

SEN
S R

5
i



KE4: FNREIRXRERREEFEZF)77 7k
EH: HEAFEL1—B)
HEES: 6 GAZ= vs S\0)

=15 IFRNRAR -Vt 49—

L1—B

B 1 — 2

FE EF 15 — 8

D1 2 15 — 5
EBE TR —

<t
s
H
]
S
I

D2 0 6 —

s

I

&

XN
|

EBH HETF 8 —
D3 0 4 —
RA Fo —

7/11 R=

15
15

15
15

/S\ C

I N
£k ARF

BiE BT

=l R

AR FREE
mE MR



R4 : ENRREREXEEFF)77 Wi

EH: HFEEWL1-B)

HEES: 7 U—*F—X vs BBAELT (—-R)

=15 IFRNRAR -Vt 49—

I—F—X

aH EF
D1
W BF

BA EmxX
D2
KL =F

H XN
D3
LWER L DA

L1—B

8/ 11 R—=

15
10

BEALT —A

F* XF

A AR

M A

gl BFE

XE BT

KE FF



RKed: FNRERRRXEEFTI77
EH: HAEWL1—B)

HEES: 8 (5L vs TOMOYUR)
25 IFNRAR-YEU4-

L1—B

i N 15 — 13 =K B

D1 2 15 — 9| 0
i BRF — k& EFF
=& BRF 15 — 11 giE EXF

D2 2 15 — 5| 0
=EH G — | ME =M
ABK FHEZE 15 — 10 Nt SRF

D3 2 15 — 6| 0
FAE IR — ®k BEE

9/ 11 R=



Ref: EFNRERRAXRES)77 ®E
B H&EL1—B)

AMEEE: 9 (BZ vs BEAELT (—R)
25 IFNRAR-YEU4-

L1—B
B 3 — 0 BEFELT (-
IR ORE 15 — 12 ZIW RF
D1 2 15 — 710
AR — glE BF
EH HEF 15 — 11 RE HF
D2 2 15 — 12 0
B T — KE FF
WE #F 15 — 10 ® E
D3 2 15 — 12| 0
FE EF — RIF R

10/ 11 R=Y



R4 : ENRREREXEEFF)77 Wi

EH: HFEEWL1-B)

HEES: 10 JL—F—X vs TOMOT R)

=15 IFRNRAR -Vt 49—

I—F—X

aH EF
D1
W BF

BA EmxX
D2
KL =F

H XN
D3
LWER L DA

L1—B

1M/ 11 R=

TOMOY A

&g ETF
Ef BE

= iz

HIE EXF

INHL RF



